ohe 29l A 17h ) A o, ] 27187

® 100° @105° @ 10° @ 115°

® 120°

A7k W] e 180°0]n2
/x =180°—(40°+35°) = 105°




th& L3t 2ol Atk E ABCD 9 A4 Y W3 F & AuhA
AD//EG//BC 7} Hl=5& 24 J0o] I Atcte|&vte] wde 7hzt

_ - EG _
E, G2t 514 AD=15cm,BC=3cm & 0], —— & 5
211 SkAf cm cm D150 st
o2},
_--15cm-
A =D
G
BSCIIIC
> =
5
xCH
> ze 18

AF:FC=15:3 °|E2 EF =

DF:FB=15:3°|E2 FG =

w2t EG = 2.5+25 =5 cm©|t}.
. EG 5 5
“"AD+BC 15+3 18




3. o 183 & AABCO|A AB//DE°|1, AABC = 30, ADBC =
244 ofj, AABE ¢] Wo|E “Fotofet,

A

L
=
Q

\VARR 4
0
L
o

~&B

AB//DE°|E 2 ADBE ¢} AAED @H ¥} =o]7} i}, whatA
ADBE = aAED o]t}

AAEC = ADEC + AAED = ADEC + ADBE

= ADBC = 24

. AABE = AABC - AAEC =30-24 =6




the oA BP:PC=3:2,AQ:QC =3:49°|t}. AR = 5cm
d of, RP 9] Zol& Fstoet.

A
Q
B P C
> = cm
> HE 4 cm

PC:BC=SC:QC

2:5:%:$A_C




o 2™olM A 17 WAL o, 2x 4 2y ©f F2 Lokl

(>0

<)

136°

@® 178° @ 188° ® 198° @208° ® 218°

~&B

A 17F AABC O] YA Y o, /BIC =90° + %ZAC‘]E}.
1
/BIC =136° =90° + 51A S lx =LA =92°
} 1
E, A o] 4719 WAL w, LEI'F = 90° + S /Dol

1 1
Ay:AEI’F:90°+§AD:90°+§X52:116°
x4 Ly =92°4+116° = 208°




6.

th5 184 aPBC 9 Hol=?

©) fcmg @ Hch
500 552
@ 11 ™ ® T

_--ldcm-~ _ _

—— 14x8 112 56

H=Ts =22 — 1
1
- (aPBC] Hel)= o xmx% _

e

18
11

AP oA BCo W 449 - Hebal o}

(cm

e

-

)




ttS I3 A AABCE ADBEES < A5 H|-&

2 3
ADBE 9] £d)¢] do]7} 12¢ o, AABC 9] 2] 4

\VARR 4
0
iy

18

B

AABC 9] 99| Z4o]& x2 5tH, F+
6=2:301222:3=12:x
ox =18

weba] AABC o] S¥] Aol 18]}

AF
=




HOEQHOR = aA ABCE 183, A H 0 E 9o = 511t
3 ¥HS AB & k= AABD & THEW /BDA = 55° ©|th x4 2y 9
= otofet

>
[> =t 125°

(BDA = 55°, /BOA = 2/BDA =110° .
OAOBC 9|4 /BCA = /OBC + /OAC = /x + £y O|B &,
Lx 4 Ly + Lx + £y + 110° = 360°, Zx + 2y = 125°




9. o Id"lA AL I & A7 aABD, aADC o] Wil /B =
40°, £C =60° & f, ZIAI" ©] 37]=7

@® 20° @ 30° @40° @ 50° ® 60°

’ 1 1 o __ o




10. The 1994 AD //EF //BC ol3 AD = 8, BC = 24 1, EF 9]
2ol =7( EF £ AC9} BD 9] @< )it

=
Q

@D 6 @ 8 3 10 @12 ® 16

Q

¢} DB ¢ 8-S G 2 skt
AG:GC=8:24=1:30]22
E:%xmzﬁ,@:gxszﬁolc}.

wHakA] EF = 12 ©]t}.

;t>| o]
O




11. o= 192 B33 ABCD olt}. ths § &2 A& 25 1=2H?

D
F
B I C
@AADF = ABDF @ ADBF = ADEF
® ABDE = ABFE @AADB = AAFB

® ABDE = AEDC

S8 \
@ O AADF = ABDF (DF 7} 3%)

@ x ADBF = ADEF

® x ABDE = ABFE

@ O AADB = AAFB (AB 7} 3%)

® x ABDE = AEDC




12.

oS 1Ol AABCOAAD : DB =3: 4, BE : A

EC=4:3 CF:FA =4:30°]t}. FP =

4cm, PC = 7cm € w], DP 9PE 2] Zo]9] D F

A2 Ftolel. h\
B Ec

® 2cm @ 2.5cm (@)?mm

@ 35cm ® 4cm

B

DF //BC, DE //AC o2&
ODECF = B 3ArA g o]t
DP =PC =7cm
PE=FP =4cm
DP-PE=7-4=3(cm)




13. o2 19 AABCOA 1= WHolt}. LCAI =25° /ACB =60°
Ao, zx + 2y A7|=2

@® 120° @ 125° ® 145° @155° ® 165°

: 1
i) 4y=90°+3x60°=120°

i) sx+25°4+30°=90° .. Zx=35°
Solx+ Ly =155°




14.

oh2 2182 /A = 90° %) A 77T ABC | H21H Aol|A BC ]
e Ao dg Dt sk, A BeF CollA] BCol 242t 2] 2 & 1o
ACSFAB O] A4} Tt e Bt Fet & o, x9F y o] g7

O x=4,y=16 ® x=6y=24

(@)x:&y:%

@ x=4,y=32

® x=38,y=32

714179 ABC S DBA & B5
:ABO|EZ x:4=16:x

ABCF oA BD:BC=BA :BFO|BE&24:16=x: (x+)
4:16=8:(8+y)

8+y=32

Ly=24




15.

oS AALZHS oABCD 9F oEFGH €| o E H
5to] mABCD 0 oEFGH ©]1, B-&H|7}
1:2 ¢ oEFGH 9] E89] Zo]9] &
a 2t b 2 A JEpd A2

W -Q- 2>

\b/
@ 2(a+b) @ 3(a+b) F

@4(a+b) @ 5(a+b)
® 6(a+b)

0}

S8 ~
OABCD ¢} oEFGH 9] §-3H]7} 1: 2 o] B2 7} tf-g- ¥ 9] Zo]
o] H|kE 1 : 2 o|t}.
AB:EF=1:2=q:EF |22 EF = 24 °|t}.
BC:FG=1:2=5b:FG °|2& FG = 2b o|t}.

OEFGH ] £d9] ol (712 + A|&)x 2 0] B2 (2q + 2b) X
2 =4(a+b) oIt}




